Model Set —I1|

Time — PO minutes
Full M3rks -35

Biology (Botany) Pass Marks —|11%

Candidates are required to give their answer in
their own words as far as possible.
oeTeff Temia S vl H & SR < |
Figures in the margine indicate full marks.
ST b 3w gUrie Afde #-d § |
All questions are compulsory
) ged fart & |

General instructions:
Q. Nos. 1 to 10 are Multiple Choice /Objective Type each of 1 mark.
Q. Nos. 11 to 13 are very Short Answer(VSA) Type each of 2 marks.
Q Nos. 14 to 16 are Short answer Type each of 3 marks.

Q Nos. 17 to 18 are Long Answer Type each of 5 marks.
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Multiple choice /Objective type Questions
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1. Through which cell of the embroysac does the pollen tube enter the

embryosac:-
(a) Egg cell (b) Central cell
(c) Persistent synergid (d) Degenerated synergid
YUIHTe B A PIRIGBI A IREHATST YUIBI # Y9 el &
(a) 3is PIframT (b) 1T BIRHT
(c) srafTe A8 BRI (d) sgiiyd Hera ST
Exception of mendel’s law is
(a) Dominance (b) linkage
(c) independent assortment (d) Purity of gametes
ded & Hgid & sare
(a)wrfaer (b) HEeTTar
(c) wacia Srge (d) gt 31 g
Anticodons are present in
(a) m-RNA (b) r-RNA
(c)t-RNA (d) All of those
yfide ug o &
(a) m-RNA (b) r-RNA

(c)t-RNA (d) All of those
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4 Discontinuous synthesis of DNA occurs in one strand because

(a) DNA molecule being synthesized is very long

(b)DNA dependent, DNA polymerase catalyses polymerization only infone
direction 5' — 3'

(c) It is more efficient process

(d) Such synthesis are more stable

DNA & U& I59s # 3RIcd Heelvor 8iar 8 wife
(a) @il B arar DNA 98d ol 81T &

(b) DNA smenRd DNA difervst wes & faen 5'> 3! % sgeidiexr &7 SAffd s

g
(c) Te &% HIa ufshar ©
(d) T e s Re eiT 2

5 Breeding for improved nutritional quality is undertaken with objectivd of
improving

(i)  Protein content and quality
(i)  Oil content and quality

(iii) Vitamin content

(iv)  All the above

I QI IOTeRTT & oY 7191 1 o & S ¥ gor fpar o 2

(a) WIS afer qAT IO
(b) Ta 3fer Tor IR
(c) ferf s

(d) Suaa wh

6 Who is known as the father of green revolution in India
(a) Norman E. Borlaug (b) M.S. Swaminathan
(c) B.P.Pal (d) Guha and Maheshwari




IRd ¥ BRI Hifd B S5 B &
(a) ARHT 30 IRANT (b) TH0 THO w@fAATRM
(c) do g ure (d) Te1 3R ARTTR

7. Agarose is extracted from

(2) Maize (b) Sea weeds

(c) cycas (d) None of these
RIS 9T fHar Simar @

(@) #FPHT A (b) g1 TRUTAR A
(c) \IEHY (d) 9 & DI

8. Gene gun is used to
(a) Bind the cut DNA (b) cut the plasmid

(c) introduce alien DNA (d) purify DNA into host cell
S T BT IYART BT @

(a®c 8¢ DNA &7 Sirew # (b) wifSAE &1 FHIe #
(c) fasicia DNA &1 warft Sif¥er § gawr axe & fare
(d) DNA @ gfgavor &

9. Pollutant which causes acid rain is
(@) SO, (b) CO,
(c) CO (d) Hydrocarbon




T 9T B Il BRSD &
(b) CO,

(d) Hydrocarbon

(a) SO,
(c) CO

10. Flow of energy in an ecosystem is

(a) Bidirectional (b) Multidirectional

(c) unidirectional (d) without direction

U qIRGH H ISl BT Yd18 Bl &
a) 31 feemant #
(c) T feem 4

(b) 95 faemai #
(d) feenfag=
Group- B/@s—9
(very short answer type questions)

(arfar g, ST yeA)

11.  What is co- dominance ? Give example

FE—gHIfadT o1 8 ?SSIER © |

12.  Fill in the blanks

(1) The natural home of the organism is called
(ii) Rhizobium found in root nodules of legumes can fix atomospheric

Grell WIHEl BT W
(i) Siat Bl UTdhfae o) HEAT &

(ii) SolgHl B SIS # VEwIETH U ST ® Sl areia]eT @
HAT &

13. (1) Write any two hybrid varieties of wheat.

LT ReR

(i) Name an organism that produce cry-protien.



(i) 18 & &=l 31 o= et & W ford |
(i) b1z 9IEH BT IWRA B qTel fHdl T S b1 AW foRT |
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(Short answer type questions)

(erg STl y¥A)

14. Match the column —I with column-Il and select the correct option f
code given below

Column-I Column -l
(A) Azotobactor (i) bacteria, fungi
(B) Ozone layer (ii) Nitrogen fixation
(C) Detrivores (iii) UV radiation absorber

1. (A)-(iii), (B)-(i),(C)-(ii)
2. (A)-(ii), (B)- (iii), (C)- (i)
3. (A)- (i), (B)-(iii), (C)-(ii)

-1 &1 e w9 -1 | gaferd o ik R f&T T ®e 4 ¥ ey &1 gf

wa -1 wa— 11
(A) ToeHdaR (i) Sfary , B
(B) oM wRa (i) -sgreE Rerdidor
(C) oUREER (iii) UV f&01 31 sraenfia o= arer

rom th
01

PN |

(1) (A)-(iii),(B)-(i),(C)-(ii)
(2) (A)-(ii), (B)- (iii), (C)- (i)
(3) (A)- (i), (B)-(iii), (C)-(ii)




15. What are essential features of vectors ?
IqED D IMILID 0T T © ?

16. What is plant breeding ? write any two objectives of plant breeding.
Uy SF9 T & ? UIeY O @ &l dedi Bl ford |
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(Long answer type questions)
CEESHHCR'ES))
17. How did Messelson and Stahl prove that replication of DNA is semi+

conservative? 05

e SR W 7 b Fseiia fear i DNA &1 ufdefa sefwel 7 ?
OR / 3teqar
Describe multiple allelism and pleotropism with examples.
IRl Ud Gl &1 ITERvl Afed ARAT B |
18. Describe post-fertilization events in a flowering plants ?
gufl greul # AveE—ued "eHmRl &7 auiHF w |

OR / 3tar

In angiosperm,the pollen germinates to produce pollen tube that carrjes two

gametes. What is the purpose of carrying two gamets when single garhete ca

fertilise egg ?

guft gredt § IRET SR & URE WA & JHS of B R & [Q] HBT I a1

IMALIHAT & AK T & WD S DIRMBT BT O IR Fhal & ?
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